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03 A2 HI 5,000 5,000 0
OAZSLEAL 5,000
202 oddl 8,160 8,160 0
01 2LHA b 8,160 8,160 0
Ot #E =& Ol 8,160
307 QI2tol A 17,000 17,000 0
03 AMFRIEHHIE X = 2,000 2,000 0
OHM11al A= &A= 2,000
04 QILHAIE X 15,000 15,000 0
OUFE=H A 15,000
402 S12H X201 ™ 385,765 168,877 216,888
01 A2 385,765 168,877 216,888
O%sd =AU 118,800
Ol =AM 34,755
OFIOHA =AM 3,366
OoEazd dst S8 16,608
OHIHA B2 12,236
OFEEHESZd MEAXZAHL 80,000
O U=:= 21D HEHAZAE L =5 80,000
OUF=E LI SHA 40,000
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= 2,197,498
= 337,772
= 597,566
Al 1,780,110
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= 38,809
Al 90,553
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= 134,449
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01 Al &l 240,992 189, 130 51,862
o=xd 240,992
= 134,449
= 37,963
Al 68,580
02 22yl 15,000 15,000 0
o=xd 15,000
03 AI& 2 0HHI 5,000 3,000 2,000
OEN= 5,000




-~

SN
X XH .
S Tt

ok

B

o
ov ou g

0¥ A Ui

09 rio -
Ho

e ox

J

o
Of
m
1
_>||_|
0

SA-EFH - SA(SAH) - MREAY - BES o

[
2
2
R
12
o
£l
0l%
IS

402 QI 2tXH201 A 12,686 12,686 0
9,867

846
1,973

= H W

<
e
~
paal
M
P

12,686 12,686 0
12,686

9,867
846
1,973

P H
o

O
10
o
al

= H W

=8 (XAl 18,000 15,000 3,000

206 XH = Hl 18,000 15,000 3,000

01 =4l 18,000 15,000 3,000
OuEE 2 18,000

ZHRIN(EX) 3,653,005 3,003,056 649,949
2,038,782

482,058
1,132,165

= Hn N

101 el Hl 169,481 305,947 A 136,466
101,500
20,300
47,681

= HnH

i
S

o
=
>
s
=

169,481 305,947 N 136,466

34,021
20,224
4,045
9,752
133,460
80,076
16,015
37,369
2,000
1,200
240
560

4 on
S

O
0p
0K
> ry
0o
oo
>
>
M

=z HnH

OMEHI0IIHA ==

it
i
= mn W

ik}
o
ry
10
J
4
e

OLHHHIOI20H A ==

= H W

201 eS| 9,150 3,489 5,661
1,260

252
7,638

= H W

2teltl 2,000 0 2,000
FIIA XM 2,000
32234l 7,150 3,489 3,661
& & H| = X 2,100
— &S B0l QO AEH =2 2,100

1,260
252
588

=z HnH




SN ARSI
HE: MUY
Sl MYV S (el &2
_ - HEE =
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o bRz

02222 2 AA 5,050
2 RIINY 2HE 5,050
°m2 25021 *2,00004 500
°m2 1, 75021 %2,60004 4,550

206 T2 bl 8,000 10,000 A2,000
2 4,800
= 960
Al 2,240

01 T2t 8,000 10,000 A2,000
O EHIIRHASE X (HHBES) 4,000
2 2,400
= 480
Al 1,120
OLEBIOIQUALE S| 4,000
2 2,400
= 480
Al 1,120

301 QB AE 4,000 7,200 A3,200
2 4,000

10 BAHAIHI &3 4,000 7,200 A3,200
OdZBIRMA DS 4,000
2 4,000

401 Al HIL 2T 3,462,374 2,671,420 790,954
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= Hn N
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= HnH
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W
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= HnH
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= H W

01 A& H 63,550 50,634 12,916
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= H W
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01 X 24 3,000 0 3,000
OSaz24 I 7Y 3,000
401 A SHIL =20 H| 50,000 0 50,000
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OFIETEA=Y 15,000
—dRTRlY RABK EPLLE 15,000
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Al 123,098
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= 9,534
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Al 67,442
04 JIAMIERS S 192,880 191,942 938
OO0l 22 RIS 186,816
= 93,408
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— === 54,0003 x5 H «24== 6,480
PR = 54,0003 x5 6 1,620
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